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| | 50 x 20 +10?
-
v [ -
ANSWER 9(8)+9(2)=90 8(: R R EE R TR AN
10 7ey+74 =70 2(
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2% 233282028002 2RRRRRRRERRRRRRRRRRRRRLRLRRRIRRRILLLLLLLLR KRR
b0%8s G IIIIRIIARIIIRINIRIIKKI,
o 23230RRRRRRRRRRRRRRRRRRRRRRRRLRLRRHXILLLLHXHXHXHXHXHXHHIRRRRS
R 3RS 2323IRRRRRRRRRRRRRRRRRRRRRRRRRRRRLRXILLLLLXHXHIXHXHXHHHRRRRRS
3 RRRR e 2323RRRRRRRRRRRRRRRRRRRRRRRRRRLRLRILLLLLLXHXHXIXHXHHHHRRRRS
CRRXHHIRRRI SRHHIRRRKS Z30RRRIRRRRRRRRRRRRRRRRRRRRRRRLRLLLLLLLXLXHIXHKHHHHHIRRRS
bo%%, 300RIRRINIKRNS XK 2R R 000000 R R RRRIIIINRIIKRRKRRRRKIKS
002070 %0 %0 %0 %65 %6 %6 %6 %6 %6 % % % %6 %6 %6 %6 %6 %6 % % "0 %’ ol 0020707070 %0 %0 %0 %0 %0 %0 70 %0 70 %0 0 0 %0 %0 %0 %0 70 20 70 20 20 70 70 20 700 00 70707070 %0 %0 %0 %070 70707070 70 76 7 56 6.6 %6 20 % % %o %




100000 20000000 0 0 %0 %0 %000 0000 00 %0 00000404 4 00 e % KL 0% %% %%
ORI ARARIARIRIARAIIRL ORI XL
S 0RIIRRRIIRRIIIRRINIALKNHANNKS RRXRRS 203
30 RRIIRRIIIIRRIIARINHIANLINIIKRHIAS RRHRNR 30K
QRIRIRIILIKLARKIIIIRIIRIIRRAKE R 288
00I0RIRIRRIRRIIIIIRIRILRIARIILRIKIANLHA XRRIRRANRN XX
R R R R RRRRRRRRRRRRRRRRRERRRRRRRKS RRRHKRRKS XXX
KX
R

. . boges
Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc. G R A D E 6 G R o U PI N G S ’::::::
355

% )
S 3 4
L I } Il }
| 3
‘:::::’:00’ y y . T L D et
CQESKAKKKR -2 -1 0 1
SRR ANSWER
1%09%6%% %%
CRAULARRRS $6
SRRRRIR .48
SILLEKK -1
QKKK KL
12009 % %%
CIREKK8KR
%0550 %%
900 %% %% %4
908 %6%9%%,
00002009455
QR
096%6%%:%:%
:0:0:0:0:0:0: Henry has 520, Use your estimating skills to Find the value. Kerry is thinking of a number. How many degrees has the temperature changed
0:0:0:0:0:0:0 the amount Henry will have left after paying fo 1f she doubles the number and adds two, the ¢ if it rose 3 degrees and then dropped 4 degrees?
RRHRRHNK 1f you think he has enough money, your groug's at Discuss with your team the relationship between ¢ What is her number? Answer with a negative number if the temperature dropped
0:0:0:0:0:0:0 think he does not have ensugh money, your tean and a positive number if it rose.
:‘:’:’:’:’:’:
026%6%6%%%
SERRRRRR
9090%0% %% %
0 90%6%6%%%
900090255
090%%6%%%
90006000 %%
090%%% %%
900965 %% %
190%%% %%
900000 %% %%
196%%% %%
90000 % % %%
190%%%%%
900000 %% %%
196%%%%%
900000 %% %%
020%6%%%%
905000 % % %%
SRR . :
%0255 %% x — — —
CRARRRRKS — - - -
90%0% %% % ¥ . . . %6%%
0%0%0%% %% KX X
9090262 %% ¥
’:’:’:’:’:’:’
9000 %% %% % A) +5 B) Is locate
LLKKKKLE an i A ite
SIS A) 940 B) 94 C) 9.4 e A) 6.25 B) 7 Qs Bur
190202002 %% C) Means the opposite of 5 D) -5 C) Cannot determine that value
CRARKKAEKL RN
19096 %6%9%% 1%6%%%%
CRARKKAKL 1969 % %%
09096%6%9%%, :%6%%%%
CRARKKAEKL 1969 % %%
o] DaSesetesess
09096 %6%9%%, . . . . 2 . = n 6%6%6%%%
:,:,:,:,:,:,: Find the correct solution. ‘What statement is the best match for this ey Solve this equation. How far is it from A to B? :.:.‘.:,:‘
SRR SRR
19696 %6%9%%, Q %%
‘.:.}:,:,’.‘ (Your partners have the same lette (Your partners have the same lette (Your partners have the same lette (Your partners have the same letter :.: .:.
:0.0‘0,0 0:0: as the correct response to this proble as the correct response to this proble as the correct response to this proble as the correct response to this problem ) Q58K
1 90%696%% % K oo
QRREKAKR o o
900694 %%% K2 oo
0’0.0.0.0.0.0 0‘0 ‘0‘
0’0‘0.0.0.0.0 0‘0 ‘0‘
0‘0.0.0.0.0.0 0.0 ‘0‘
0.0.0.0.0.0.0 0.0 ‘0.
909222 %%, %% K2
R XRRXK
:%6%0%%%% o 5%
CRRKKK8K2 %% o
IRRRAKK 2RRXK
0%6%%% %% X %%
KRR SXRRNN
KRR RIS
XRIXRAR RRRK
9020 % % %% 0% Q
120000 %% K o0 %
QRUKKIKL 2 s I + + + + + — b4 b » Pededetede!
0000 % %% %% s $a%
SRRRAKRS 3 | 9 XXX
3RS
oteses 5 | 5 0 ANSWER
RS
K 1/3
’:’:
:‘:‘ 0;0;0;0‘0'
oo
XKL
K ‘What is the relationship between X and ¥ in What is 2 times 1/67 Express as a unit fraction. Express as a unit fraction.
Express the relationship as a fraction: Express your answer as a unit fracti
020002808 8 258 8 58 5 0 2 2828 282528 2550552800000 0528 28 58 28 25825 2555 28 8525 558555880
0RO IIIIIIIRRIIIRAARS
1900020002000 00 0e 0, 0,0, 0. 0 0 0 0000000000000 200000 000000 0 0e e 0 0a 0 0 0 0 0 0 0 0 0 000000022262 % %%
19000000000 %000 0600009, 049,940, 0000000000000 0000 00000 00 0a 00 a0 e 0 0 0 0 0 0 0 0 0t 0000000622022 % %%
02005828 200282828 2888 8 K 20 20 2885850800 0828 288 5 8. 28 2850 28 525 25 5 5885555550885
QIR
G R RRR AR RIRRIARRILLRALIRLRALRANLRANLIARLIHLIHNLIHLRARAKNALIRKNNK,
05555 BRI ERREREREEEEEREREREREREEEIERREEEEIREEEEEEERIRIRREEEL,




Deretetodet
QKRN
ZRRRRRRRRRRKS

1 1
+
4 8

X
.
OJ
o

ot
28
SRR

28
KK,
RRRRRRRRRRRS

Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.

==V

I One whale I

%
2S0RS0RKLLKK
L

00000000 050,909 0,099,

Find the value.

(Your group has the same answer expressed as an

Four friends want to share three sandwiche
How much of a sandwich will each pers:

How much of the 2/3 bar can fit into the bar m

Lock at 1/2 in the diagram. How much of 4/6 can fit into 1/27
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10 x42 +7 +10?

What mistake did Sandra make in her calt

[Your group has the correct answer to this

Five friends are sharing 3 large sandwi
How much of a sandwich will each friend he
Express your answer as a decimal

Use this pattern to determine the value that go

Why do you think this pattern is try
Be ready to discuss this with your tes

Determine the value.
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ANSWER 0

C BEIEEE! C) -2<-1

1.02 +12 + 1.

A 126 B) 234 C) 1422

9.4 x100 -

A) 9400 B) 94 <€) 940

2.3x0.04 =

A) 92 B) 0.92 C) 0.092 D) 9.2

Which of the above statements is try

(Your partners have the same letter as the cor

Which is the correct response? Be ready to explai

(Your partners have the same letter as the cor

Which is the correct answer?

(Your partners have the same letter as the cor

Find the correct answer. Be ready to share your thinking.

(Your partners have the same letter as the correct choice.)
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Peter ate 1/2 of a candy bar. Now. three friends Find the value.
left of the candy bar. How much of the entire

of the three friends get if they share the remaini

Andre was practicing using a paint roller. He painted
red paint. Then he covered 1/3 of the red paint
How much of the wall was painted with ba

Marianne had 5/12 of a yard of fabric. From
a yard to make a dress for her doll. How much fa
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Four friends want to share 3 sandwi One of these statements is true. What is Katie’s number? Paula says, “This problem looks tricky”
How of a sandwich much will each friend g Rick says. "Let’s solve it one step at a time”
Find the value of the true statemer Help them solve this problem.
(Your group has this answer expressed as an equivalent fraction.)
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Find the sum of Pand Q. Find the value for this expression| Alvin says, *l know that |-3] is 3 and 3] is Harriet received money for her birthday. She got $10 from her uncle,
45 from her brother. and 535 from her mother. The next day she
Be ready to explain your thinking Be ready to explain your thinking received two bills in the mail. The first one asked her to pay 520, and

the second asked her to pay $30. How many dollars does she have left?

Be ready to explain your thinking
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I'm thinking of a number.
Multiply the opposite of the
number by 2. The result is -12.
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Jenny says that 12 + (-6) is the same as Name the value.
She uses number lines to explain her

If your think Jenmny is right, your team’s a

1f you think she is wrong, your teams anss

What number did Ms. Pascal begin with?
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Be ready to share your thinking with your team.
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Do these two expressions have the same value? “Tatiana is hungry.
She looks in her refrigerator and sees half of

Use two number lines, one for each ex3 How many servings will this make if a serving sk
on a separate sheet of paper, to verify youl

Find the value. Find the value of this expression.

Be ready to show your work to your t Be ready to explain your thinking.
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Julie owns a share of XYZ stock. The price of hel
by these fractional amounts over four days. Find
change in the price of the stock. State your answer

Find this value. Brian wants to share three-fourths of a pizza with 5|

should each slice of pizza be for all 6 boys to has

Mary Ellen wants to know what the term reciprocs’ means.
Instead of telling her, her friend Roberto says, “Find the number that
goes in the box, That's the reciprocal” (Your group has the same value.)
Share the meaning of reciprocal with your group.

Be ready to show your work to your t
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Jeremy looked puzzled. His friend Ein Stein gave Jeremy a hint.
He said, "Look at the first part of this problem.
What is any number divided by itself equal to?”

‘One of these statements is true. Find the value of What is this value? Use the order of ope Nicki borrowed $100 from her brother. She gave
woeek to pay him back. How much of the total amoul
paid back after five weeks? State your answer as a

your team, write an equation for this situation using

EREERAEAX

SRR IKK KR
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expressed as a unit fraction.)
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““‘:: Find the value of Q - F. Bernie recorded the changes in temperature over a Find the value. Milan is thinking of a number.
020562 %%% how many degrees did the temperature ris If he doubles the number and then subtracts 12, the result is -2,
KK Be ready to explain your thinking to you With your team, look for several ways to solve What is Milan's number?
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My number is rational and it
is also a repeating decimal.
The decimal representation

of my number is 0. ANSWER
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Delilah says, A terminating decimal is a With your team, determine what this value Betty is thinking of a number. When What is Joe's number?
that ends when the fraction is stated asa multiplies her number by 2 and then subtracts 9,

Which of these fractions does not te
when written as a decimal?
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can be stated as a ratio of two numbers.

vV | know that 2/3 and

ANSWER 8/5 are rational.
1 But what about 97

and its reciprocal?
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What is the value of the denomin ‘What answer is Mr. Franklin looking Francis says that 0,555 is not a rational number.

that makes it possible for 9 to be written a says she can change the number to the fraction 8/9

If Francis is correct, your team's answer
1f Mary is right, your team's answer

Find the mistake in the list.
That value (in simplest form) is your team’s answer.

With your team, verify that this value hal
with negative numbers.
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Elisha thinks 3 is closer to 1 because it is like the Use this table to find the rate of change. Your team Find the value. Find the value.
thinks +3 is closer to 2 because she knows that V3 is

Be ready to share with your team how you found ¢ Will this pattern be true for other square roots,
[Your team's answer is the whole number 3 Why or why not? Be ready to share your thinking
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‘Write an equation using D = dollars and M|
to show the cost of renting movies from thi
[Your team has the graph, table, and other i
that relate to this equation.)

Use this graph to determine the rate of cha
and the initial value {yintercept) sha

Use this table to determine the rate of chan Given that the rate of change (slope) is 20 and the y-intercept is 10,
and the initial value (y-intercept) of this sketch the graph of this function on a separate sheet of paper.
(Your partners have the equation, table,
(Your partners have other information about and situation describing your graph.)

(Your group has other information that relates
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‘Write an equation using D = dollars and M| Use this graph to determine the rate of ch: Use this table to determine the rate of chan
to show the cost of renting movies from and the initial value (yintercept) of this| and the initial value (y-intercept) of this ff

2
e

X

<

2

: Given that the rate of change (slope) is 10 and the initial value is 20,
%

: (Your team has the graph, table, slope, and (Your group has the equation, tabl

%

%

%

%

0

%%

o,

sketch the graph of this function on a separate sheet of paper.
(Your partners have the table, equation,
and situation describing this graph.)
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nonlinear
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’:”’, 1s this function linear or nonli 1s this function linear or nonlinea Determine whether or not this function Determine whether or not this function is linear.
If this function is lincar, your partners also have If this function is lincar, your partners also have If this function is lincar, your partners also have If this function is lincar, your partners also have linear functions.
If this function is not linear, your partners have no If this function is not linear, your partners have no If this function is not linear, your partners have no If this function is not linear, your partners have nonlinear functions,
toa. Be ready to justify your thinking with toa. Be ready to justify your thinking with toa. Be ready to justify your thinking with toa. Be ready to justify your thinking with your team.
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1s this function livear or nonlinear?

If this function is linear, your partners also have linear functions. If
this function is not linear, your partners have functions that are non-
linear, too. Be ready to justify your thinking with your team_

1s this function linear or nonli The points on a graph have these coord
If this function is lincar, your partners also have be linear. If function is linear, your partners If this function is lincar, your partners also have
If this function is not linear, your partners have fi functions. If this function is not linear, your part If this function is not linear, your partners have fi
nonlinear, too. Be ready to justify your thi functions. too. Be ready to justify your thinking nonlinear, too. Be ready to justify your thinking
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Select the best description of what is hag
‘between the x-values -1 and 5 on the g

(Your partners have the same letter answer
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‘Write the equation that describes the cost of rg
for members at Movie Mart. (Use D to reg
and M to represent Movies,) (Your team has t
and other information that relate to this e
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Given g + Zx = 4, the rate of change (slope) is or
(Your partners have the same letter answer

Be ready to share your thinking with yo

(Your partners have the same letter answer

M = number of movies D = dollal

This table represents the cost of renting movil
month of membership. (Your partners have o
that relates to this chart.) Answer the following
How many movies must you rent for the cost|
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Select the equation that describes this g

(Your partners have the same letter answer

A) (0,4),0,1
B) (0,4), (1,2
<) (0,4),0,

D) (-1, 6), (0,

‘Which set of points will fall on the line of

(Your partners have the same letter answer

Determine the rate of change for this graph. Determ

(Your partners have the situation this grag
and the table of values )

0000000000940, 0.0.0.0.0.0.9:9.%:%
‘0.0.0.0.000000000000

O0RRIARLAAKEELERER

$RARARAHRARRARRRKNK

000 00%%%%%6.% %622 % % %%}

K855RRREEREREERRERELERREEBAEKR
0 RIRRRIIIRXIIIAKNS
2R
02020002020 06%0 %000 %6260 %0 %6 96962 %%
R 020000020 %0 %006 %0 006200000 %6000 %0 %0000 24 %0 % %
IR R RRIRRRRRIRRRIIHEIKS
st
0% % %%
190202 % %%
190202 % %%
%ﬁ&&&f
%&&&&’
20962 % %%
0049 %%
02006 % %%
%60 %%
020200 %6 %%
020000 %2
1202002 %%
09006 %% %%
090%6%%%
09096 %%%%
KRS
0%6%%6% %%
A) V2 B) -0.99999 s
C) 0.454545 D) V36
A value that cannot be represented as a ratio is called irrational.
Which of these values is irrational?
[Your partners have the same letter answer as you do.)
Be ready to share your thinking with your partners.
A) The slope is 3/4 and the
yrintercept is (1, 0).
B) The equation is y = 3/dx.
€] The equation is y = 3/dx - 1.
D) The slope is 3/4 and ther
no yeintercept.
Which answer choice accurately describes this graph?
(Your partners have the same letter answer as you do)
Which is the better deal: $15 per movie with a start-up fee of $10.
‘or 55 per movie with a start-up fiee of 5207
(¥our tearn has the equation, graph, b0
and table that represent the better deal ) >
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Practice and reinforce the content from the Common Core
State Standards with these innovative activity cards.
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